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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
FINAL TERM CLASS -8
MODEL QUESTION PAPER
SUBJECT — ENGLISH
SESSION —2022-23

GENERAL INSTRUCTIONS:

e Total number of questions is 50.

e Each question carries 1 mark.

e Four options are given. Students are expected to select the most appropriate answer.
o All questions are compulsory.

e No marks will be deducted for wrong answer.

Q1. Of every two men sent up to the glacier, one is.............
a) A casualty b) retired ¢) suspended d) promoted

Q2. A bird had laid eggs:

a) Below the cornice in Keshav’s house
b) On the roof of Keshav’s house

c) Inthe garden

d) Above the cornice of Keshav’s house

Q3. What did Kali dislike?
a) Catching snake b) Going to school
c) Playing d) Jungle
Q4. Name two things that are not frozen in Siachen glacier.
a) Eggs, water b) Chocolate, oil
¢) Onions, cold drinks d) Rum, kerosene
Q5. Name the two siblings in ‘The Naive Friends’.
a) Keshav and Shreya b) Shyama and Krishna
c¢) Keshav and Shyama d) Shreya and Krishna
Q6. Dipa Karmakar is an Indian .................
a) Freestyle wrestler b) artistic gymnast
c¢) Badminton player d) shotput thrower
Q7. Whose bicycle was stolen?
a) Preksha b) Sneha c¢) Siddhartha d) Priya



Q8. What does the poet see on the way from Mysore to Ooty in the poem ‘A Heritage of
Trees’?

a) a man working in the field

b) a man grazing cattle

¢) a man hunting animals

d) a man cutting a tree
Q9. Information and communication technology should be used..............

a) irrationally b) judiciously c) carelessly d) excessively
Q10. What did Malala Yousafzai stand for?

a) education for poor people b) education for women

¢) education for boy d) education for girls

Q11. Write the following in Possessive form: ‘The room of the children’.

a) The children’s room b)The childrens’ room
b) The childrens room d)The children room
QI2. A ..o, of fish
a) Litter b) brood ¢) pack d) school

Q13. .The past tense of ‘My mother draws water from the well,’ is:-
a) My mother is drawing water from the well.
b) My mother drew water from the well.
¢) My mother has drawn water from the well.
d) My mother has been drawing water from the well.
Q14. Choose the grammatically correct sentence
a) I bash you if you will tell Ma.
b) I bash you if you tell Ma.
¢) I’ll bash you if you will tell Ma.
d) I’ll bash you if you tell Ma.
QI15. ‘Continuous as the stars that shine.’
a) Personification b) pun c) simile d) metaphor
Q16. Choose the sentence which is in Present Perfect continuous tense:

a) She has been living here for five years.
b) She has lived here.
c) She had been living here for five years.



d) She is living here.
Q17. The correct punctuation of ‘how nice of you to visit me’ is:

a) How nice of you to visit me.
b) how nice of you to visit me!

¢) How nice of you to visit me!
d) How nice of you to visit me?

Ql18. Hari ............ before the two boys............... up
a) woke, had written b) had written, woke
c) woke, wrote d) had written, had woken

Q19. “Punish the thief”, said the king.
What would be the indirect speech of the above direct speech?
a) The king said to punish the thief.
b) The king asked to punish the thief.
c¢) The king ordered them to punish the thief.
d) The king orders them to punish the thief.
Q20. We eat so that we........... live.

a) should b) must c) may d) might

Read the following extract carefully and choose the most appropriate answer for the
following questions:

You come to me like heaven’s caring arms.
I remember the war days when life was challenge and toil
Miles to walk, hours before sunrise,
Walking to take lessons from the saintly teacher near the temple.

Q21. Name the poem from which these lines have been taken.

a) My Mother b) Stopping by the Woods on a Snowy Evening

c) Daffodils d) Bharat our Land
Q22. Who does ‘you’ refer to?

a) Poet’s sisters b) Poet’s mother c) the teacher d) poet’s brothers
Q23. Which war is being talked about in these lines?

a) World War | b) American Revolutionary War

c¢) Russia — Ukraine War d) World War II



Q24. Who is the poet?
a) A.P.J. Abdul Kalam b) William Wordsworth
¢) Subramania Bharati d) Robert Frost
Q25. Find a figure of speech.
a) Like heaven’s caring hands b) [ remember the war days
c) walking to take lessons d) You come to me

Read the following extract carefully and choose the most appropriate answer for the
following questions:

Once or twice, though you should fail,
If you would at last prevail,
Try, try again;
If we strive, ‘tis no disgrace
Though we do not win the race;
What should you do in the case?
Try, try again
Q26. Name the poet from which this extract has been taken.
a) Thomas Haig Palmer b) Neal Levin c¢) David Horsburgh d) Ruskin Bond
Q27. Write two rthyming words from the above stanza.
a) prevail-again b) fail-race c) disgrace-race d) once-twice
Q28. What is meant by ‘prevail’?
a) persist b) defeat c) attempt d) win
Q29. What is not a disgrace according to the poet?
a) losing b) winning c) prevailing d) appearing
Q30. What should we do if we want to win the race?
a) give up b) keep trying c) participating d) dreaming

Read the following passage and answer the questions given below:

Keshav had opened the latch but Shyama didn’t say that to Ma. She was scared that he might
get a beating. Keshav was afraid that Shyama might squeal. He hadn’t shown her the eggs, and
so didn’t trust her. Whether Shyama was silent out of love or because she was party to the
crime is a matter of some conjecture. Perhaps it was both. Ma scolded them and took them
inside the room. She latched the door and started fanning them softly. It was only two o’clock
in the afternoon and the hot summer wind was blowing outside. Soon, the two children were

sleeping soundly.



Q31. Name the chapter from where this extract has been taken.
a) King John and the Abbot of Canterbury b) The Naive Friends
c¢) Siachen-The Place of wild Roses d) Kali and the Rat Snake
Q32. Which crime is Shyama talking about?
a) Saving the eggs b) feeding the birds
c) damaging the eggs d) disobeying parents
Q33. Find a word from the above passage which means ‘frightened’.
a) Squeal b) scolded c) conjecture d) scared
Q34. ‘The children were sleeping soundly.” What does this sentence mean?

a) The children were not sleeping.

b) The children were making a noise.

¢) The children were having a deep sleep.
d) The children were snoring.

Q35. Mention two qualities of the mother from the above passage.
a) Caring, loving b) harsh, cruel

c) rigid, careless d) quiet, insensitive

Read the following passage and answer the questions that follow:

The next morning during assembly the Principal called Sneha to the dias and declared that she
had won the second prize of Rs. 1000!

“How come...!” Sneha was silenced by the thunderous applause. The Principal read out
Sneha’s essay to the school and declared that they would enforce Sneha’s rules right away.

“I am surprised. I had not even submitted my essay, so how could I have won the prize?”” Sneha
said later as they slurped ice-creams.

“Didn’t I say the essay that I submitted would win?”
Q36. In which competition Sneha had won the second prize?
a) speech competition b) race
¢) essay writing competition d) debate
Q37. Who is ‘I’ in the sentence ‘I am surprised.’?
a) Preksha b) Sneha c¢) Siddhartha d) Priya

Q38. Whose essay is being talked about in the sentence “Didn’t I say that the essay that I
submitted would win?”’

a) Sneha’s b) Preksha’s c) Priya’s d) Siddhartha’s



Q39. Why was Sneha surprised?

a) because she was not good at studies

b) because she knew she would win.

c) because she was proud.

d) because she had not submitted the essay.
Q40. Who had submitted Sneha’s essay?

a) Sneha b) Preksha c¢) Siddhartha d) Priya
Complete the following Notice:

S.S. High school
Patamda, East Singhbhum

All ... (43) house teams are hereby invited to participate in the Twenty — Twenty

Cricket Tournament to be held 5" November onwards, at the school ground.

The final match will be played on November 14, 2022. For more ............ (44), please contact

the undersigned.

Sd/

(Rahul Singh)

................ (45)

Q41.a) School Captain b) aspiring ¢) information d) NOTICE

Q42. a) November 03, 2022 b) information ¢) School Captain d) aspiring

Q43. a) information b) aspiring c) NOTICE d) School Captain
Q44. a) aspiring b) information ¢) School Captain d) NOTICE

Q45. a) School Captain b) information c) aspiring d) November
03,2022

Complete the following letter:
Hinoo Chowk,

Ranchi

September 20,2022



A few days ago, I read a poem Bharat Our Land written by poet, Subramania Bharati. I learnt

that the mighty ............ (47) is ours, the

are ours. The sunny golden land is ours. She’s

Buddha has preached his dhamma here.

With love,
................. ,(50)
Amisha

Q46.a) generous

Q47. a) Himavant
Q48. a) My dear Ritesh
Q49. a) generous

Q50. a) Yours affectionately

b) Yours affectionately ¢) Himavant

b) generous

b) generous

b) Himavant

b) generous

c) peerless
¢) Himavant
c) peerless

¢) Himavant

Answers
1 A |11 | A |21 | A | 31 B |41 | D
2 D 12| D |22 B |32 C |42 ]| A
3 B 13({B |23 | D |33 | D |43 | B
4 D |14 | D |24 | A |34 | C |44 | B
5 C 15/ C | 25| A [ 35| A |45 | A
6 B 16 | A |26 | A |36 | C |46 | D
7 B 17, C |27 C |37 B |47 | A
8 D |18 B |28 D |38 | A |48 | B
9 B |19 C |29 A [ 39| D |49 | C
10/ D |20 C 30| B |40 ]| B | 50| A

(48) Ganga is ours. The sacred Upanishads

(49) Gallant warriors have lived here,

d) My dear Ritesh

¢) Yours affectionately
d) peerless

d) Yours affectionately

d) My dear Ritesh
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g o et 12 37 et gt 2
(1) 0 (2) 4/11 (3) 2/11 (4)5/11
48. g favg T fRaeri 1 FRT?
(1) (0,0) (2) (1,0)
() (0.1) 4) (1.1)
49. 43 (-3,-4) Fore =rqater & R M2
(1) wo (2) foetrr
(3) T (4) =gH
50. f&Ig A(2,-5) & T &1 71T #4752
M2 @5 (30 (@ -2
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Subject: SCIENCE
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Time: 01 hr Maximum Marks: 50
(|THY iqégl)
General Instructions

1. Write your Name, Roll Code, Roll No., Registration No., Date of Exam., Sitting, Faculty and Name of
the Subject on the OMR Answer Sheet in the space provided. Put your full signature on the OMR
Answer Sheet in the space provided.

3T SO AT, A B8, SIHHID, TSia- T, TI&T Hi foify, arett, faumT 71 fawg &1 /8 omR
IR YA H €1 718 STE IR ol | 31T 310 RT §EAT&R OMR STR-U=h H &1 T8 S8 R |

2. There are 50 Multiple Choice Questions in all.
% 50 Sg-Apaa UH § |
3. All questions are compulsory. Each question carries 1 mark.

g U fari 8 1 U Uy 1 3ib BT B

4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ ¢] in the OMR Answer Sheet given separately. Use only Blue/Black
Ball-Point Pen. The use of Pencil is not allowed.

TS Uy 1 IR fadhed il M €1 570 ¥ 999 SUged faded gdh 39 3T ¥ 38 §Y OMR ST
U TR el TIicl I DI PR [ o] TR B! God ditord | el A1 STl Sid-drse Had B gl TN
&3 | IR STy afd g |

5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You are
allowed to take the question paper with you.

Tlef Yo BIS V TS OMR ITR UAH G1efeh 1 afieT SIS | U9-UF 3MTY 30 1Y & 51 Jhd & |
eI fased &1 9o B
Choose the right option:

1. HRAH Uil TR Y= fovdn 7T -

(A) 1990 (B) 1972-73 (C) 2007-08 (D) & -Tgi g
When did Project tiger started in India?
(A) 1990 (B) 1972-73 (C) 2007-08 (D) Not started
2. JAUUH HIRGIH! T fba &t 72
(A) (S B (B) XIaC I (C) U8TS SR (D) IS 4

Who discovered the cell first?



(A) Robert Hooke (B) Robert Coach (C) Edward Jenner (D) Ronald Ross
3. U JargH u1q ford a1 § HIel off Yol 6-
KL (B) URT (C)WfeTd (D) T

A soft metal which can be cut using a knife?

(A) Silver (B) Mercury (C) Sodium (D) Gold

a. m%gﬁﬁﬁq@ﬁﬁ%%,mﬁ@aW%mWaﬁaﬁmﬁmw
THATE ?

(A) g (B)PIFTH  (C) el (D) TegHifaH
Which of the following is a metal whose electroplating can increase the shining of an object ?
(A) Iron (B) Chromium (C) Brass (D) Aluminium
5. RO I &1 o &I SRS B § 2
(A) =1 (B ) ST el (CHPS! (D) TR Hel

Who is the main cause of communicable disease?

(A) Ant (B) Dragon Fly (C) Spider (D) House Fly
6. MEHA DA -AGRYST ?
AW EF (el (D) T

Which of the following is viviparous?

(A) Human (B) Hen (C) Crow (D) Duck
7. X OH H 1ol B HE R TR 98 [958R ST ¥ 1 39 f7U 19 91 9 STRE™ § 2
(A) To@ §d B)RRIggdIs§d () uvUIEd (D) GBI T

When combing hair in dry weather, it scatters . Which force is responsible for this?

(A) Gravitational force (B) Electrostatic force (C) Frictional force (D) Magnetic force

8. fgifrd o fpg 4 1 S AF T 31fYb g1 g?
INSESS] (B) PRI (C) TedtSit (D) BTSGIS

Which of the following fuel has highest caloric value?

(A) Wood (B) Kerosene (C) LPG (D) Hydrogen

9. AR Y PH- IR RIY F R et o1 FeRor Hrarg?
(A) XY (B) XX (C) &l (D) G B PIS ol

Which chromosomes determine the male sex of the child?



(A) XY (B) XX (C) Both (D) None

10. YR A H 95 &1 UfafSs fbg HIT R s 82
(A) XS (B) BRI ()BT (D) ITH I BIS g

In the human eye, the image of an object is formed at

(A) Retina (B) Iris (C) Cornea (D) None of the above
11. THB BT BT ISRV | -

(A) 7§ (B) T (C) 3T, (D) ¥

An example of kharif crop is -

(A) Wheat (B) Gram (C) Potato (D) Rice
12. IRUNIR B a1 TE & ?

(A) 31TS (8) I (C)ad (D) |

How many planets are there in solar system?

(A) 8 (B)9 (C) 10 (D)7
13. gYUT gHTI-

(A) BTHDRD §

(B) TTHITTD &

(C) T BTHPRS 3R AT AHEID §

(D) $B A H BINGRS dUT $& HHA H THSTID BId1 8
Friction is always -

(A) harmful

B) profitable

(C) neither harmful nor beneficial

(D) harmful in some cases and beneficial in some cases

14. TIYE T & 5T I BT IR ?
(A) TTfeTEEeR (B) AT (C) PU™ (D) 379 Y PI5 Tal

Which fiber is used in making parachutes ?

(A) Polyester (B) Nylon (C) Cotton (D) None of the above

15. HTFId & HTHI P [ YT IR © -



(A) 20 Hz - 20000 Hz ~ (B) 20000 Hz  (C)2000Hz (D) 38 | I3 gl

The range of audibility for the human ear is -

(A)20 Hz-20000 Hz  (B)20000Hz  (C)2000Hz (D) None of the above
16. TP 43 & ST ¥ Y& & T &I RPIS BT A G 2

(A) R QAT (B) FTR  (C) hu Tl (D) STH A IS Tl

Which instrument is used to record seismic waves ?

(A) Richter scale (B) Computer (C) Seismograph (D) None of the above
17. f4% A9 T UG HRUTE -

(A) TTSCISH 1 Fgcll AT (B) SHTeRAISIH b1 Sl AT

EIEEEICESIEIEI (D) FTE SAHFITZS HI Tl A

The main cause of global warming is-

(A) Increased amount of nitrogen (B) Increased amount of oxygen

(C) Increased amount of ozone (D) Increased amount of carbon-dioxide
18. YHCOA TG -

(A) TTST (8) T (© P (D) Tl

Endangered species is

(A) Horse (B) Cow (C) Dog (D) Tiger

19. SIg HITAHT H FT AT BT § ?
(A) DIRBIIT  (8) haD (C) PIRTEHT T (D) Sa &
What is absent in animal cell ?

(A) Cell Membrane (B) Nucleus (C) Cell Wall (D) Cytoplasm

20. ST & Y F {5y 311 BT ST BT S ?
WFHRE (@R (o) RS (D) TsgeA
Which non-metal is used in the purification of water?
(A) Bromine  (B) Chlorine  (C) Oxygen (D) Nitrogen
21. fay & ga ufaoifas w1 § -
(A) TETTSIaAH(B) WUSHRRA  (C) TR IEIRININE
The name of the world's first antibiotic is -

(A) Tetracycline (B) Streptomycin (C) Erythromycin (D) Penicillin



22. O A SIS Qo Ud SHTeRiior BT SUTd o1 51l 82
(A) 2:1 (B) 1:2 (C) 2:2 (D) 1:1
What is the ratio of hydrogen and oxygen in water?
(A) 2:1 (B) 1:2 (C) 2:2 (D) 1:2
23. 70§ ¥ 59 oflg # fegsTgRISH g ?
NGES] B)RMR™A () safleT (D) SRR

In which of the following organism reproduction occurs by binary fission?

(A) Hydra (B) Paramecium(C) Amoeba (D) Bacteria
24. %9 P GaTd e &b S 4
(AFSHE  (B)TGIe  (C) IS THTd el Usdl (D) STH IS !
With increases in depth the pressure of fluid -
(A) decreases (B) increases (C) has no effect (D) None of the above
25. $U & &SI HH BT HAB Bl & -
(A) Kg (B) KJ (C) KI/Kg (D) K/J

The unit of calorific value of fuel is -

(A) Kg (B) KJ (C) KI/Kg (D) K/J
26. PRI HIITE -
(A) 119 19 TY (B) 6 T 10 9N (C)0T6d¥ (D)ZAH I DI Al

The age of adolescence is

(A) 11 to 19 years (B) 6 to 10 years (C) 0to 6 years (D) None of the above

27. WA 5 & GRT UG- 3 forT qaifee GiaureHd gl 3-
(A) 26 cm (B) 28 cm (C) 24 cm (D) 25 cm
The most comfortable distance for reading with normal eye is -

(A) 26 cm (B) 28 cm (C) 24 cm (D) 25 cm

28. Tdll, Tl Ud Afeord! &1 98 THM TR I Bl g -
(A) TR (B) Bifchea’ (C) PR (D) 3TH I PIs Ta!

Large scale production of flowers, fruits and vegetables is called-

(A) Apiculture (B) Horticulture (C) Sericulture (D) None of the above

29. 5T UB BT THIT IRT YT AT dRT BTl g ?



(A) gY (8) gl (o) Fgwld (D) YD
Which planet is called '‘Morning Star' or 'Evening Star'?
(A) Mercury  (B) Earth (C) Jupiter (D) Venus
30. T 3T ) ag R RA TNV HHAEIATE 2
(A) STITBR (B) FMPBR  (C) TPIBR (D) FABR
Which shape of object has less fluid friction?

(A) Rectangular (B) Square (C) Boat shaped (D) Circular

31. Uerd S UTgpfaes Ufehal oI Sfia] & gRT3Ugfed 8idl €, dl dheardia ?
(A)Sid ezl (g) Sia siREiwRufi (C) TR Y=MM(D) 3TTCH

Substances which are degraded by natural process such as bacteria are called

A) Biodegradable (B) Non-Biodegradable (C) Synthetic fibre (D) Decomposer

32. @91 P Uadl [ g HRb W R Bl 82
(A) AR (B)3M (TR (D) STH A PIS a1

On what factors does the loudness of sound depend

(A) Pitch (B) Amplitude (C) Noise (D) None of the above
33. faudia sra=i & ot @ wfafear g1t § 2
(A) STHYT  (B) UfABYUT  (C) SMTHYUI Td UfHSUr GIHI (D) STH Y B3 8T

What reaction takes place between opposite charges ?

(A) Attraction (B) Repulsion (C) Attraction and repulsion both (D) None of the above
34. BRA T8 TG 3R AfYes droH & o ey &0 SR 1 7 -
(A) BT STS3HTRISS (B) B (C) &Y (D) G H BTs T8t

The gas mainly responsible for greenhouse effect and global warming is

(A) Carbon Dioxide (B) Methane  (C) Both (D) Neither of them

35. 98 Jead forad gt Heherad UaiTord! &1 Rabls 39T 9I1dl §, Heamdi g -
(A) &I STCT g (B) U ST b (C) Tl STeT g (D)X STeT
E53

The book in which the record of all endangered species is kept is called

(A) Blue Data Book (B) Green Data Book  (C) Yellow Data Book (D) Red Data Book
36. P A @ - T Ugd SiiaA A § 2
(A) ARGl (B) URHTY Sl ()@ Sel (D) PIIar

Which of the following is a fossil fuel ?



A) Solar energy (B) Nuclear energy (C) Hydro energy (D) Coal

37. BB T DHIRABT 507 & st Tielt a1 el 8, Ty ped & -
(A) DIRBT I (B) DIfRTewT Uk () Rfeqr  (p) bad
There is an empty structure in the cell between the cytoplasm which is called
(A) Cell Membrane  (B) Cell Wall  (C)Vacuole (D) Nucleus

38. DI - Tt AU HIR & ag W 1} I & T SfNfpA HRA G 2
(A) 40 BRGRY (B) AT HRWBRY () "feTd (D) URT
Which metal reacts with air even at room temperature?

(A) White Phosphorus (B) Red Phosphorus (C) Sodium (D) Mercury

39. fhU B UGBTI Bl WIS T &t oF 2
(A) TSTS SR (B) ST} T (C) Jac g (D) T3 T2
Who had discovered the process of fermentation ?

(A) Edward Jenner (B) Alexander Fleming (C) Robert Hook (D) Louis Pasteur

40. 59 1A faera- H faggd URT yaifed &1 it § a9 faaa & I1H uRad= gar g1 98
YPpd BT -

(A) faggd uRT & IS THTd B (B) [aqgd YRT & IS TG BT
() Taggd YRT & G 1d UHTd Bl (D) faggd YRT & dfSd UHTd B

When an electric current is passed through a conducting solution, the change in colour of the
solution indicates

(A) Chemical effect of electric current (B) Heating effect of electric current

(C) Magnetic effect of electric current (D) Lightening effect of electric current

41. Tay o Tduyy ue O &1 Fa fasRid forar mar o, St am ar -
(A) STeif (B) BTG (C) STcft (D) Frfeeran

A clone of sheep was developed for the first time in the world which was named as -

(A) Barbie (B) Charlie (C) Dolly (D) Simba
42. WA ©-

(A) 319 Td gd g1 (B) %d Td T G

(C) 31 T& T Gl (D) TTH A B TEl

Fluid is



(A) Both solid and liquid (B) Both liquid and gas
(C) Both solid and gas (D) None of the above

43. aegd IUHRON H oht 3T g3 & oY Ga 33T SAEHH § -
(A) T (8) Ucrd (C) TS ST HRIES (D)

The best fire extinguisher to put out the fire of electrical appliances is

(A) Water (B) Petrol (C) Carbon dioxide (D) Qil

44, TSHI B AP THA IHI G YT HEaA © -
(A) USRI TUA ATHSADT  (B) NPT (C) UTRISS (D) TTH A bIs Tal

The bulging in front of the neck of boys is called

(A) Adam's apple or Neck stone (B) Larynx (C) Thyroid (D) None of the above
45. A UHTR (GF & Y1) & fohd T8I 72
(A) 4 (B)5 (€6 (D)7

How many colours are present in white light (sunlight)?

(A) 4 (B)5 (C)6 (D)7
46. U WM R TS &1 YR P g1 AR H I 7Y Nl 1 T Hed a2
(A) ST (B) BId (C) P (D) Wit

What is the same type of plants grown at one place in large scale called ?

(A) Grain (B) Crop (C) Agriculture (D) Farming
(B)
47. T Ui & s Bt g o) fobd spTs & AT ST 82

(A) fpaer  (B) Hiex (C)UPTRIAY (D) R TN

Which unit is used to measure the distance between celestial bodies ?

(A) kilometre  (B)metre (C) light year (D) solar year

48. TNUT I gl Bt 3081 TWS Jdal W -
(A) AABBIATE. (B)PHBIAIE (O NERFAT G (D) STH A PIS a1

Friction on rough surfaces as compared to smooth surfaces is

(A) More (B) less (C) equal (D) to none of the above

49. FA A DA UHfa®s dgas | -
(A) UIIGER  (B) U@ (C)Ushfeldh (D) TR

Which of the following is a natural polymer



(A) Polyester  (B) cellulose (C) acrylic (D) nylon

50. S @ G- B P @it 8, S Hed g -
(A) et e B)Wid (R (0) §&S
The sound which is unpleasant to hear is

(A) musical sound (B) music (C) noise (D) pleasant



ANSWER KEY

1B 11.D 21.D 31.A 41.C
2.A 12.A 22.A 32.B 42.B
3.C 13.D 23.C 33.A 43.C
4.B 14.8 24.B 34.C 44.A
5.D 15.A 25.C 35D 45.D
6.A 16.C 26.A 36.D 46.B
7.B 17.D 27.D 37.C 47.C
8.D 18.D 28.B 38.A 48.A
9.A 19.C 29.D 39.D 49.B
10.A 20.B 30.C 40.A 50.C
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1. S YT ATH, TS HIE, ATHATE, TSI F&IT, Tt 6f fafsr, areft, ot o o= w71 99 OMR
IAL-TTF H & T SHTg 9 o | 319 37947 Q7 gFa1ee OMR IT-95(F § &1 75 Sg I H7 |

2. % 50 Fgfasedia 77 2 |

3. AT T AATT 8 | TAF TT 1 AT FT7 ¢ |

4,y FoF H 9 fowen Ry 0 8 | =99 & 999 U Aded FAaT 39 99 ¥ U gr OMR 3<2-
THF TT Tl I T HAT FHT [¢] ITL T G HIGT | AT IT FIAT AA-T(52 FAH AT 51 TR HL |
et T TIRT AT 2 |

5. 9T 9ad BT § Tgot OMR STL-T5F 187 Tl AT SIS0 | STIIS AT A9 q7T of ST 9l 7§ |

o  FUT AT THEEMT FT LATHIET TTAT HIToT FeTAT ATTHT ITL-T AT ZRIT AT I
ST @1 ! ST |

1. ¥Rd & Y e STl T A?

() A Ferarfor (@) TS Sergish
(31) SIS HATSCeee (&) an=T erEeTH

2. 97w AT Fgl &1 Harr ar?

(%) g7l (@) Thicds
(31) W (&) ST=AT
3. U g3y Afd fordet & Hr?
() @S FerartoE (@) oS seElsT

(31) @S delofell (6) &S ATSeaes



4. OY Goollel Hgl 1 AEH AT?

5. {IaTsl egaEdT fohe &1F & o] & a5 oY

~

() SIS (@) e

(1) Herg 3R HaS (&) el 3R dore
6. AQTIAIET <IaEdT haa JIR A2

(F) s Fedad (@) s RuaT

(31) WATS deloTell (a) glec HAeholl

7.aﬁr~rﬁa’|€w§mm?

(%) 1831-32 o (@) 1855 %o
(31) 1895 o (ar) 1857 So

8. HUTeT fagig & Adca fordtel fopar?

() foTam (@) fagaeg

@) faerer Als (&) sirefleR-didie’
9. R # dgell Fc FUST Aer Fgl T g7

() Hard (@) A

(a1) SaTTer (&) I

10. 1857 &1 swifd &I 3R fovd ATH & M= SATAT 872
() famer fagte (@) gor facie
(3T) Seteefrst (&) @ fagie
11. 1857 & sifd & aAdca A= A fohaat fohar?
(@) foazar Hgar (@) faeaemy emgca
(71) Tg-reg (6) sAree-diars



12.

13.

14.

15.

16.

17.

18.

19

AT Teiehctel T FTUTEAT fohdad hI?
() FTcHAT ey
(a1) dfepa =g =Tesit

(F) FHeprer ST e ANfa =+
(@) Tred gs & Afd 97 H
@) faformer Jea & arg-af¥er #r
(7r) faferasr wsa $r Raic i

() s FHfetar
(31) IS P

feq faerar gaAfdarg sfafags g a¥
(@) 1829 So
(1) 1856 So

3 FATST Fr TUIAT R HI?
(F) AT g BT
(31) TG EIEA

= # @ i 9T gATT & 3ol
(F) "X Vg
(1) SreT $TS ARIS

ST FAHTST & AT IR T T
(F) TS SPotel
@1) «is sfdeT

Y AT A A AT TR elr?
() T MR T

AT A& T HoATHRIET HgT AT -

AT 9T &1 6T el &7 AT fohgenl 872

(@) oS Folel
(7r) «irs faforme dfew

o1 B3MM?
(@) 1872 %o
(&) 1899 So

(@) TaHr asee

() =T qHARA TT

TATST GURE A?
(@) SAfa TG For

(9) cARTH 1S3l
S

ST i AT?
(@) dis f&er
(a) @i ARy

(T) HeTcAT el



20.

21.

22.

23.

24.

25.

26.

27.

28

() T g (8) g g

1928 So H 3MeifUeh H glhT Pl TAUT Ugeh Sildel dlell HRATT 1 & Hedlel
Pl A?

() ASR LI (@) ¥ &g

(o1) FerdR e (&) Srrer g asr
faea 1 @ o131 faf@a G fha qerarg?

() FIF T IARHT (@) foresT

(1) AR (&1) =T
iU GarT eed Hiferh JTRT T J&aT fhdeil &7

() 7 (@) 6 (1) 8 (&) 5
HIX Ueh TTY IS hel FAT?

() 15 3TITE 1947 (@) 26 SToTadl 1950
(aT) 2 37eFCsY 1869 (&) 15 sTdeX 2000

SAREHT 3R [AUTATT3 o AT Fohctel st oh 3TeRTT BN 872
(%) 495 (@) 6ay¥ @) 5a¥ (¥) 2a¥

R T JUH Aol STy HT FATATH 872
() alTeY 7T (@) gfaer g wrfee
(31) TS A=Y (&) sferamedr

TITIdT & 9T Wﬁqmmgﬂﬁmaﬁr:@ﬂ qT?
(F) 1952 (@) 1947  (3) 1950 (&) 1953

ATRTAT H TeET Fr 31Thde T&ar fhdet AfRad frag g?
() 543 (@) 545 (3T) 552 (&) 250

. ARA # N I Teg HiA-arg?
() 3T AT (T) Fafed =g areg
(1) Ftem 3reTerd (6) NS T




29.

30.

31.

32.

33.

34.

35.

a%rﬁmmaﬁﬁrgmmﬁm?ﬁ%?
(F) 28 (@) 22 (aT) 24 () 35

AT HTAUTT & TohE HTTDe oh SaRT YT I SeaeleT fehdT AT ?
(@) 17 (@) 15 (a1) 29 (8) 30

SRS H el fohclel ThR AT STASTI (2] ar@ T g?

() 24 (H@) 26 (M) 30 () 32

| 16T 37aret hr Qe3TTel hey hr 7S A2

(3h) 1998- 1999 (@) 1999- 2000
(31) 2000 -2001 (9) 2001- 2002

hleT-TY FISTAT IS AT T o7 Qoo TerdToiT (31) ShetehRIeT ITeTstl Tl & Hel el
g?

(oR) TEITeTHAY &I AT Attt

(T) TUTTHAT Shiael ST Arstel

(9T) Geher T THE STl

S

(&) TETTAAT Ssodell ArsTed

faea dare e fieaw forg Ty ol Herar Srarg?

() 313ell$ (@) 3158
(1) 31AT (&) 30 31T

AR & Tt § HTeId GHEIIHT hT RIS o fIT Teh goTelTget Ao & har g
SH UI508 goddlSe ol A FAT G ?

(sh) 1091 (M) 1967 (3T) 1098 (&) 1950

36. T fhE Y T AT 87

37.

() AdrepToiT (@) T () Held (F) o9

ST garas &1 39ier Far 51 Wr g Jdur foadr amr o g & 39
T T FAT Fgd 87



(h) HHTH (@) aredides
(@) 3rard (&) gRacereier

38. T H & i AdertoiT gareT g2

() el (@) agifergs
(@1) T (&) wrhiaes g
39. SIRES ¥ U THATT TSET 3T ‘Sell A I e ey 7 2
() Ty (@) Fwsam
(31) TR CIKIGE

40. TAFT H @ e FeT TI&IUT 1 Teh 39T o6 §?
() TelleHeTeT (@) FeT W s

a

(3N) T&Teh AGeTT () ®E 3Tl

41. FIRTS A Fol A I fohclalr wfderd gareoTied &2

@F) 33% (@) 29% @M 22% (1) 40%

42, 37T07f3h FaT & 3cUied & fov @FT & O g 3uaer frar rar g2
() WATH (@) Piger (31) ST (&) gasT

43. 9T H I 3cWAT TAVAH gl [T IrAT AT?
(&) IR=T (@) TeArarat
(3T) HOTT (1) THerRielr



44. AT H @ PloT 'GAGU [T & AH § ST ST 872

(F) FIE (W) gedoT () IeAT (") FT

45. 3ccX qdl R H TARAARA HIY H 6g A7 @ ST ST g2
(F) olgreT (@) Tedr  (31) Jer (&) A

46. el 3T FT FeAT AT §-
(&) =T (@) gohel

(31) JTHT (@) % Td @ g

47. 33 fha ger @1 e fohar &7

() grefas (@) gfacas
(31) e (=) TqEF
48. 9IREs F A Ha e & v ufdg &2
(%) TIfAfATA (@) dreT
(a1) oT-ET (=) W

49. 2011 &I SANUAT & IR AR HI STATEAT Telcd fhelell §7?

@) 14 (@) 382 (31) 414 (&) 350

50. faFT H & iaT JIATEAT IRTGdA T HRUT T8T g7

(@) ST (@) A

c o

(31) HarH (7) STIEEAT gedcd
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N

o  UHEH TEAT-50 (I5A1rd) Fied |

o A UA: JffaAara: |
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